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: GENERAL INSTRUCTIONS FOR CAN DIDATES

1. You are given a Test Booklet of 16 pages as well as an OMR (Optical Mark Recogmhon) Answer Sheet The Test

Booklet contains 80 questions serially numbered from 1 to 80. Count the pages of the Test Booklet and be sure that ;
_ theyarein proper order. Ensure that the Serial No. and the Code of the Test Booklet and the OMR Answer Sheet :

are same. In case of mismatch/defect/discrepancy in the Test Booklet and OMR Answer Sheet, repﬂft to your .

Invigilator and get the Test Booklet and OMR Answer Sheet replaced.

2. Answers are to be marked only in the OMR Answer Sheet as per the example given below. Candidates are required
to indicate their answérs at an appropriate place on the OMR Answer Sheet. Darken only one arcle for each
questionas per instructions given on Side-1 of the OMR AnswerSheet.

3. For each question, there are four probable answers, out of which only one is correct. The candndate is requued to

. select the correct answer and darken the corresponding circle of the chosen answer For example, if YOUT answer for

; QuestionNo. 37 is (C), darken the crrcle@as givenbelow. . " oyt L - :

: QNo T RESPONSE s ,-:-3 v
‘ .. B ® @ O |- S s
Only Blue/ Black Bal]-pomt Penis tobe used to wrxte onthe OMR Answer Sheet, Candldafes should bring the.u' own 7T}
‘Ball-point Pen. Use of pencil is strictly prohibited. ; ]

The test will be of two hours duration from 11:30 a.m. to 01:30 p.m. and will have three sections with only ob;echve

type questions.

"6. Additional time of 40 minutes will be allowed for "Dlvyang sl'udents" (differently-abled sl-udents)

7. Asingle Test Booklet comprising all the three sections will be given to each candidate. " by

8. ThereareB80questions inall for 100 marks as’ per details below 15 minutes additional time is allowed for readmg ’the i
mstruchonsfromll ‘15am.to11:30am. " . s M 11

gt e Typeof Tests | Sections | Number of Queshons Marks| - i G * : 8
. v [Mental Ability Test | Section-1 | From1t040=40 Questions | 50 | e
o i Arithmetic Test | Section - 11| From41 to 60 =20 Questions | 25
Language Test | Section -1 From 61 to 80 =20 Questions | 25
Total . 80 100
9 All questwns are to be attempted Every question carries equal marks.

10. You must attempt questions of each section because you have to qualify in each Sechon separately e
. 11 Section~1has ten Parts. Separate directions are given f for each Part, T ! 5
4 12 Overwriting, striking, cutting, applying white/ correction fluid and erasing on theOMR Answer Sh
~ «i= ° Suchanswers will not be evaluated. Do not make any.stray mark on the OMR Answer Sheet, ?Qe;lz}? : aﬂow;?
_ %"1& darkened circle is allowed once marked in the OMR Answer Sheet. ) ange bl
7. 13. Rough work must not be done on the OMR Answer Sheet Use Page Number 16 of th
-~ess 14:-A bell will be rung after every 30 minutes. e Bnokflet for rough i
% 15, No negative marking will be done. e
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SECTION-1 -
- MENTAL ABILITY TEST b

iE ; PART -1 . . . | |
) have been g:wemm each Questwm .
gure is different. Sele

Sheet agaugs;g them

Directions : In Question Nos 1 to 4, four flgures (A), (B), (C) ‘md (D

Of these four figures; three figures are similar in some Wﬂ}" and one fi

which is different, Darken the%cucle for the answer m the OMR Anﬁwer
ﬁ i‘)g;{‘ ‘i\; : > %

Correspondmg to th.E queshon. ; ; ..... gf ‘m

1. . ”T"F‘ i it 1o
| B

i
=
® >
3 “n g
o
@
Apany
w
-




PART -2

Directions.: In Question Nos. 5to 8, a question figure is giv'enl on the left side and four answer figures
marked (4), (B), (C) -and (D) are'given on the right side. Select the answer figure which is exactly the

‘same:as the ‘question figure:andi darken the circle md:he OMR Answer. Sheet agamst the number

correspnndmg to the: quesuon vk gon e
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Directions : In Question Nos. 9 to 12, there is a question figure on the left
Observe the answer figures (A),(B); (C) and (D) on the right side and find
without changing the direction, fits in the missing part of:the question figu
pattern in the question figure. Indicate your answer by darkemng the circle 1n:

PART -3

against the number correspondmg to the question.

Question Figure
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side, a part of whichis Missing,

out the answer figure which, |

re in order'to contplete-&;g ;
the OMR Answer Sheet %
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e PART - 4

i ‘Directions : In Question Nos. 13 to 16, there are three question figureés on the left side and the space for
the fourth figure is left blank. The question figures are in a series. Find out one figure from among the
 answer figures given on the right side which occupies the blank space for the fourth figure on the left

side and completes the series. Indicate your answer by darkenmg the circle in the OMR Answer Sheet
against the number carrespondmg to the question. =+ - &

Question Figures
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PART -5
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‘PART -6

Directions : In Question Nos. 21 to 24, one part of a geometrical figure (Triangle, Square, Circle) is on
the left side as question figure and the other one is among the four answer figures (A), (B), (C) and (D)
on the right side. Find the figure on the right side that completes the geometrical figure and darken the
' umber corresponding to the question,

L
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 dircle in the OMR Answer Sheet against the n
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PART -7

Directions : In Question Nos. 25 to 28, there is a question figure on the left Side 'a"t.‘fi-whic};fsexacﬁy* 0\
marked (A), (B), (C) and (D) are given on the right side. Select the answer figure ™ er by dar ‘h‘
mirror image of the question figure when the mirror is held: ét XY. Indicate your anSW kehu\g
the circle in the OMR Answer Sheet against the number corresponding {0 the gue{tlon- - g .

¥ i . ¥ =

uestion Figur R
Question Figure . Answer Figures

25.

28.




PART - 8

p fDu‘gcbDl‘lS : In Question'Nos. 29 to 32, a piece of paper is folded and punched as shown in the question
.. ;. figures on the left side and four answer figures marked (A), (B), (C) and (D) are given on the right side.
| Gelect/the answer figure which indicates how the paper will appear when opened (unfolded). Indicate
your answer by darkening the circle in the OMR Answer Sheet against the number corresponding to the

question. et D

Question Figures . . Answer Figu;es




PART -9 TR
¢ side and four anSWenfigy A
fhisle which can:be forg, ¢

Directions : In Question Nos. 33 to 36, a question figure is given on
answer figu Sheet \
i

marked (A), (B), (C) and (D) are given on the right side. Select the : MR
from the cut-out pieces given in the question flg'ure. Darken the circle in th? O '
the number corresponding to the question, - S TS e i 7 | . .!3
Question Figure ' : A;swer. Figm.es :
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PART - 10

ns : In Question Nos. 37 to 40, a question figure is given on the left side and four answer figures

irgclio
markEd. (A)f (B), (C) and (D) are given on the right side. Select the answer figure in which the question
figure 18 hidden/embedded. Darken the circle in the OMR Answer Sheet against the number

cofresponding to the question.
' Answer Figures e
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: SECTION-1I |
Bt | ARITHMETIC TBST (D)*m v, ol

rections : For Every qu.GSth'l, fO“l' rObﬂble ﬂnSWGI'S as ( A)’ (B)’ (C) an g b
of these is correct. Choose the correcI: answer and darken the cn‘cle in t_he OMR Answer 3

the number corresponding to the question, : N _ g
doAmy ; 200925 i ;.
41, Prime factorisation of 90is: .~ - 47. The s;mplest fractton form Of is;
" (A) 9x10 ' Qo | - 8037 . :
: . ~ (B) 3X6X5. 1&‘:‘; (A §9§Z g (B) ST

2X3X5 (D) - 2XIKIS [ SR - A e

42, Find the difference betweer, @ B%L . - (D) o0

e smallat ce between the greatest and ?, 400 ..

4-
the digits 4 zdag;; I{\lumbers formed using all .

equ:ﬂtu
4 . 8—[13-«[16 6- 17 Dl lseds
(A) 5000 i ('B) 5300 QQ%}) Co (A) 2 ik D (B) 3 2 itk
S 5373 “@) s720 534“‘ @ g, T DR
43. If_gisggus 75456., then 9532+125 is 49 3_‘_ 3 - 5 +€; e
equal o ; onh. % =2 100 1000 _-
(A) 7.5456 075456 .. decimalnumber.: ; . s RS i o
E o @ stonmge e fl - g (A) ~3,080333 P, @/ 3.033003%: -

Q 7. 456 ! @) 754 56 el Lk " p
_ w400 T T(© -3.003303 - (D) 3.030300

;-.44. The sum of 1.1, 1 01 1~001 0,01 11 o1 and 50.: 17-bottles cf;water' ea::h of 36& mL &

g | AL § .| . bottles of juice, each of 130 mL. are-pioun
i @ 125. 2311 "(D)Nw 1252321 . | o B
45 In a quesnon of d1v1510n, 1f divisor is 51, | . (C) :1'0_' e (D) 11
=" quotient is 16 and remainder is 27, then the/
-z . dividendis: . {° : **_, J
L oK) sz (B -43-3
€ 9574, % (D) 1393 T

46. Which of the followmg is always a factor of

ey pn.menumber’-'fl__w g A S l:@ A : Fre
f 6 1 ’ (B) 2 lea_ "5‘0 1 hour 35 minutes G o

B “1 hour 40 minutes
@+  O7 254° (B) 1hourdsminutes
K@PACE FOR ROUGH WORKFAN®/ g
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. ) A shopkeeper bu (A
3 r__r_u_pee and sells at the rate of 4

toffees
The number of toffe e"S"sESIa 's_o zfz'grto

“earn a profit of ¥ 12555 :

Wthh of the fOH .
owing rect:
maximum area and hgw ;1321.1}."15 ha
A °

" (A) Profit of T 2370

e A s B 8 1 A1
2 » BT 35 on A
, 31mplLf1cah0n, gwes L =\2>
o ol -
. (A) 2 :.f,\ @/ Z o 1____*&90‘1"“00
o = WO) Ty . oo ;
4" 22 D) % ‘

Teena purchased a scooter for T 55,000. Si{e
spent ¥ 3,400 on its repair. She sold the scooter
to her friend for % 56,030. Her profit or loss is :

Loss of T 2,370
(©) Profit of T 1, 030 (D) - Loss of ? 1 030

58. “The a'ﬁgle between the minute hapd and the

solved by P, Q, R and S. /

: .;;:_:::’?gf. :

‘From the above bar graph, find how many
" more questions Q and R solve together than

%‘5‘3%

hour hand at 6:00 p.m is :
(A).. Acute angle
(C) Obtuse angle

ngh{“ angle
Straight angle *

Ry
‘17;'?' |

P and S together de

A blcycle wheel has a total of 24 spokes The
angle between a pair (¢ of adjacent spokes is:

1'.

. Thebar graph shows the number of quesuons S

@



. like they do. Webs, in fact are crucial for the survwal
. of spiders.

- 61.

i LANG'

Directions : There are four passages in this Sec
each passage carefully and answer the qucﬁ

as (A), (B), (C) and (D) are given. Only 0n¢
darken the circle in the OMR Answer sheet :

' I’assage 1 '
All spiders Spin webs, Webs help spnders do three :
things. They help spiders hold B8°: hide fro
danger andcatch food,

- Most spiders are dark brown, grey or blackin colou?
wlvhlle the spider webs are lightin colour, white an
fl‘)udy When spiders hide in their webs, they ar€

arder to see, Webs help spiders catch food. Spider
webs are sticky. When a bug flies into the web, it
gets stuck. It tries to get out, but it can't. Its
trapped! Spiders can tell that the bug is traPPQd 2
they feel the web move,

So without webs, spiders would not be able to live

This passage is about the fa

.= - importance of splder s web .

¥ 4 (B) - importance of bugs for thé spxders

~/(C) _importance-of laying _ggs |
(D) nature of SPldEl‘S . =

'What is not true about webs of spxders 7
(A). They hold eggs.
.+ (B) % They catch food. -

62.

L35t 2o (D) They l‘ude from enemies.

,;j,;}’

, 63. The synonym of the word: 'trapped'
B PN st'uc]( A (B) hlddﬁn,
(C) eateny <. (D)= escape 2
64, How can spjders tell When somethmg is

trapped in’their web 7" {1

“~(A) They can heaf’ ol . 2
', (B) .They can smell it.” :-;#-: L m
ﬁjs?-ncan feel it. ™ . ¥
i/ (D) They%can taste it:,
5 t sentence

65 ! 315 usz?dmsflrsilf:l meanl:; of the Passage o

¢ beingalive + - (B) hid den o
(C) caught (D) deﬁ."‘té r ; +

M wnbaa
Juk M SR b,

L Each passage s
; that follow. For each question, four Probable::
st of these is correct. Choose the correct ape

inst the number correspon

ea K
| statues: decay, but books survive, Books dé

Good books have alwa_ys helped .man in-

|67

" .I@w ,,.displace ﬁ-_ ..;r

N-IT;
TEST |,

folloWEd by fwe questior

dmg to ﬂ,‘e queshm-'

Books are by far the most IaStmg pro duas i i
effort. Temples crumble into ruin, pictir

destroy the great thoughts which are as fresk ﬁ:da
as when they first passed through the au h

mind. These thoughts speak through the ‘Prin
pages. The only effect.of time has been to.thy
out of currency, inappropriate products. Nf? i
in literature which is not good can live for,

spheres of life. No wonder the world keeps it
with great care. 5

66.

)QB)' ggeat Jdeag

; (C)Q. Qappropnate produc
(B) prmted matte_?f
Wluch of the following words isas
of«the word ' mappmpnate 22

(A) cillness ; -« 7
smtable

il T (C)an're hmelesﬁﬂ - (i 5 {i\“ &

(lj)" celebrate human effort 2’

70. The wiord ‘crumble} adused in tixei
ol g

means ;
hay. dismtegmte~
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b Passage - 3 e
The golden eagle is easily recognizable by its mos tly
-dark brown plumage and golden feathers, In
i_:dults, the females resemble the males, butare often
' larger, 8

. s- i
This:majestic creature makes its home in the open.
‘tountry in the northern hemisphere. They build
' large nests in trees or on the walls of cliffs which
 g1ves them greater room to manceuvre, The golden

eagle isa master at soaring. Witk its large wi )
- itisa & ge wingspan,

L1

- 1S a magnificent sight as it soars for lon, periods’
it -_E!_,fﬁ%!}zmd'ed by the rising mass of warm aﬁ%upwmq

.l-gtin;t\pgrtar}t, for it can carry
< massive heights without flap

.w*

the golde

the ‘eagleto;
PINg." "y '

l'.

iThe golden eagle is mostly féund i
:;,_.’. % it ' 5 i 5 !
%o areasthat have little wind ‘and warm'
| i S e Lok
areas that have buildings Ayl
the southen"l'-hemispheré ; ‘Y‘l i
- the northern:hemisphere "7 ‘3}
" ¢ - ._..(- g L
i b L2 ' = e
The female golden eagle can be dlsuﬁ
' by its | v

g

 (A). darker plu.ma_ge

(B)  brighter wings

¢ @ dark brown 't lumage |
73, Which places would the bird

1‘ (B) Areas Mhtﬁd from vegetation
#8# * (C) Massive heights

gh; (D)? Open country Withr-l}ouses :
§L : ’ .. il . = 7 . i Y £ .:. e -4
42" 5 €74 Whichword is similar in meaning to the word
W) goldeny i ®) bl
‘. grand = . (Df- ‘modest
": “"——E':t"\- : iy }4, S

. L75 Which: of the following wordslis not'a
4 o gl

Yoy ¥ antonyin of “massive' ?

& (A);; l'i.l'ly-', ‘ ,@ ‘vast: "zj

i Passage -4
A robot is a special machine, It
instructions that come from a
it is a machine, it does not m
" tired. It never complains.’ |

moves and follows
Computer, Because
ake mistakes or get

)

Robots are all around u's{ Some robots are used to
make things. For example, robots can help maks
cars. Some robots are, used to explore dangerous
places like volcanoes. Some robots can help clean
houses. Some robots can even recognize words,
They can be used to help answer telephone calls,
Some robots look like humans. Most robots just look
like machines.. | - Ry

76.. 'Ihe'sfﬁoni;ﬁl of 'tired' is __ :

: @ exhausted » .

(C) vacuum ¢z ¢(D) dangerous,,’ e
AL T | L d s
'77:; Robots don't make mistakes because they

.

o (A) expfgrek”

g b

' are machines Sl g
. * follow instructions givéri bycomputer

(C) look like humans »ag.}g}}r;;,ii)'_{: p = R AR #

! ; (D) don't look tired ' : '

L

1 '78: {Ac:cordmg to the passage, for which’ of the

£

35"

.. "following tasks are robots not used ?
. 4(Ay* To clean houses”

g
&

: "1-.'-""” ] i
gy &:(B)  To answer telephone calls ; -

et

4

f Fcin' teaching children ~ ..
S J-:I.p' : “:._g s I,-;.i ! iy 3 . J 4% %
o of the follows gv{rordsis

205

_ way w4
anantonym
Tk w by

S g

Which ,

O.f the Word,. 'Elapgero.‘usl ?
@) el 1
v i ”“J P

@ ed 2R

§

3 . 'Safe for \
. (D) re'c?grﬁs‘é Mo A
W 1‘ ?-,.t:"" P

! T ma DI O L 1L 2 -'":
Which of the following statements about ‘.
robots is not true ? ' B A .
(A)  Most robots lsokllke machines._~
(B) " Robots don't make mistakes. -

«('Qr‘ _Robots;'are féfrjlr.useful. s .
®_ Most robots look liké humanse?.

4
| D) weightless

« ¥ow 5%5 ek
f ot L ¥
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